mﬁ%nmwwmu#&ﬁaﬁ‘ﬂﬁmwa(% e
wfifafies @l ® 1 (150 TR g 3)

h .
How will you explain that medieval Indian temple sculptures S SO(:llal(;
life of those days ? (Answer in 150 words)

s At Rt ah e o A am i aEe WA T R
e % st R e gufm e & @R S @ 7 FR A
(150 ¥l # S 3)

Why did the armies of the British East India Company — mostly comprising of
Indian soldiers — win consistently against the more numerous and better equipped
armies of the then Indian rulers 9 Give reasons. (Answer in 150 words) 10

ﬁqﬁ%ﬁmmaﬁm@w@%m%mﬁm%ﬁﬁmﬁﬁ
A Frerft ® 7 @wor =t | (150 v # I 3)

Why was there a sudden spurt in famines in colonial India since the mid-eighteenth
century ? Give reasons. (Answer in 150 words) . 10

- wrafis =g A R @ v @ S | (150 T F IR 3)
Describe the characteristics and types of primary rocks. (Answer in 150 wor ds)
' 10
SRS A et & o whtem-wantd Samaft %
forq fruifa Tr-g%a & ad & ==t = (150 Y= H I )
Discuss the meaning of colour-coded weather warnin

: gs for cyclone prone areas
given by India Meteorological Department. (Answer i

n 150 words) 10
) E’ﬁq@%ﬁm-ﬂmﬁ?ﬁﬁiﬁﬁﬁﬁﬂql(lSOQ@ﬁW%)
DiscuSS the natural resource potentials of ‘Deccan Trap’. (Answer in 150 words)

10
m,ﬁmmﬁmwﬁwﬁmwmﬁﬁa & R % ol
2w | (150 s ¥ I ¥)

Examine the potential of wind energy in India and ex

plain the reasons for their
limited spatial spread. (Answer in 150 words)

10
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10.

11.

12.

[ 3.

@l BT d9T AR &7

5 ’ a; 31—8’( .
TR e A s ’ family relationghipg
(150 =i 3 g <) Work From Home™ on y ps.

10
: f

Explore and evaluate the impact O

SWer in 150 words)

qod % IR ¥ IR 2wt w1 R
P g % faiw Ry F i
%Wmﬁ\aa%?(lsoa@ﬁw |

iddle class with
ise of a new mi .

" d to the rise o1 0 words) 10
How 4 th f Tier 2 cities related swer in 150 w

an emphaseisg ‘;)Or:" :Eeoculture of consumption ? (An

g & It I
W%Wﬁqwaﬁﬁﬁwﬁﬁ?@igmﬁﬁm
MWW#’WWW?(IW v # I <)

. ia, i ich specific contexts
Given the diversities among tribal communities in India, mirv:d;l;(l)l vfords) 10
Should they pe considered as a single category ? (Answer ,

W@%ﬁmwﬁﬁaaﬁxmmﬁmmwﬁaﬁswafmﬁﬁw
W?ﬁ@ﬂﬁm%lmaﬁaﬁmﬁl(zsoa@ﬁw%)

izati itori been a
The politica] and administrative reorganization of states and territories has

id-ning i with
continuous ongoing process since the mid-nineteenth century. Discuss s
examples. (Answer in 250 words)

wn?ﬁuwaﬁté@%ﬁﬂn—maﬁ;aﬁa-m%mwaafaﬁl
(250 =3t F IW T) |

Discuss the main contributions of Gupta period
1

a

15

Wﬁwmsﬁtw 'ﬁﬁ?ﬁmiﬁfa@%ﬁ%mwﬁwﬁl

’ . f the lion and bul] figures in
. ignificance o

Discuss the s

Indian mythology, art and
hitecture. (Answer in 250 words)
archite

15

qui R | (250 WK F I F)

_ forces that influence ocean Currents ? Describe the
What are the ‘iv orld. (Answer in 250 words)
f the |

ir role in ﬁshing
industf}’ 0

3



16.

17.

18.

wmaﬁ&wﬂmaﬂhmgﬁg{mmmmm
watatia 31w g b | (250 T F I

bber producing countries, indicate the major

Describing the distribution of T in 250 words) 15

. , wer
environmental issues faced by them. (Ans

(250 =3} § I )
Mention the significance of straits and isthmus in international trade. y
(Answer in 250 words)

- " W F HeEq wa § S Wen whme @ feifa w2
F ? (250 v F T ?)

Troposphere is a very significant atmospheric layer that determines weather
processes. How ? (Answer in 250 words) 15

AT T A A, 8w R v A R R S
(250 s/=31 # SR 3)

Analyse the salience of ‘sect’ in Indian soci

ety vis-a-vis caste, 'region and religion.
(Answer in 250 words)

15

mw,mwa@mwm%ﬁ-wﬁ@m%mﬁammﬁm
FAd B 7 TEEE IR F | (250 Vst # IR )

Are tolerance, assimilation and pluralism the

key elements in the making of an
Indian form of secularism ? Justify your answe

I. (Answer in 250 words) 15

mmﬁﬁgﬁmﬁmWimm%ﬁsﬁﬁm%%m
#d # T & | (250 wed A I 3)

Elucidate the relationship between globalization and p

ew technology in a world
of scarce resources, with special reference to India (At

1swer in 250 words) 15
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